348 bx+b=10 [b#0,x=—1;b=0,indet.] 358 2x —4(3x —a) =6(a — 2x) + 6Ga
[ |
[x = 4a]
349 ax—3at=0 [a# 0, x=3a;a =10, indet.]
-
a =3 —
350 ax=x+a a¥l,x= ;a=1,imp. _!52 Zbx =2b — 1
- —1 2h — 1 .
5 ‘b .ii},x=j—b;b=i},u'np.|
351 bx—2=10 ‘b;tD,xZ—;h:'l},imp. )
- b 360 (@ + 1)x =3
1 L
352 lax—a=10 a#0,x=—;a=0, indet. aF—lx= va = — L imp.
- 2 a+1
—2
353 ax+2—a=0 |a#0,x=——;a=0,imp.| 361 ax +2x=2a +4
- L
o [a #—2,x =2 a = —32,indet.]
354 2a —3x =7Va — 5x X =—
| 2
_!Gi {@? — 3a)x = ala®—9)
355 b(x—-2)+b+1=0 [a #0mna #3,x =a +3a =0,a=3,indet.]
b—1
b#0,x=———;b=0,imp.
‘ b | 363 2b(b—2x=b>—4b+4
356 6x — 3(x +2a)=a + 4(x — 2a) [x =al b#FOAbF2,x = — —ib=0,imp;
357 ax =ab [@ #0,x = b;a = 0,indet.] b =12, indet.
-
BRAVI 5| DIVENTA = E24
364 a*la—1)x=a*+a+ 2ax
Ll
365 bx+b'=F+ bx [b£0ab#1Lx=bib+1);b=10b=1,indet]
L
ﬁ al5—4x) =44+ a'(l — x) aFlaadtdx= — sa = 0,imp.; a = 4, indet.
alk — 2)
367 3x(a —2h) + a2 —b) =2x + 2ax + x(a — &h) r=—-—
L 2
1
368 —a—x=1—a% at*lx= ;a= — 1, indet.;a = 1, imp.
— a—1
1
369 kx —2%kx —k=0 ‘k;tDakiz,x:—;k:'l},indft.;k:1,1'mp.
= k—2
_372 alx—a—1+mx(2+x)— I=2x —3)-2kx(x—1) [a#Lx=a+ }a=2,indst]
1
371 abx =0 ‘b;tlll.«n £0,x =—;b =0,indet; b £ 0Aa :[I,[mp.‘
- i
b+1 . .
372 2ab’x =ab +a aFoab£nx= —ia = 0,indet:a # 0 b :D,]JTJP.‘
- 2b*
E.‘E Ix — Za(l + x) = x(1 + 2b) — 2x(b — 1) [@ #0,x = — 1;a =0, indet.]
374 2[3+ (b +3)x]+2bx =3-3(2x — 1) b # —3,x =0 b = — 3,indet.]
375 x4+ — (b +xP + P4+ b—x)=0 [b #£0,x =1; b =0, indet.]
1
376 2+2x=3ax +a—a a#tlaa#Flx= ia =1,indet.:a=1.1’.n‘1p.‘
- _1
1
377 a*x —a'—dax +4=10 a*flaa¥rt2x=—:a =D,imp.;a=:2.indft.|

a



